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(a—8)a+6)=a’ +ae—as—6’

-
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(a—6)a+8)=a" —¢°

J

Dopmyna pazHocmu K8aopamos




Dx=y)(x+y)=x" -y
2)(cyr8) +6 =Cc" —86
Nm+n)m—n)=m’>—n’
(x+6)(x—6)=x"—8"
S)(x—D(x+1)=x"—1
6)(x+4)x—4)=x"—16
B-y)8+y)=064-)°
8)3a+1)Ba—-1)=94% —1
NABx—a)B3x+a)=9x" —a*
10)(3a —86)(3a + 86) =9a” — 646°




ID)Bx—=T70)3x+73) = 04 —49)
12)Bx=Ty)Tx+3y) —smo ne popmyna
13)(5a° +6’)(5a” —6’)=25a" — 6°
14)(—2a-9¢)(2a —9¢) =—(2a+9¢)(2a —9c) =
=—4 81 ¥ =8lc°—4a’
15)6x> —(2x+1D)(2x-1)=6x" —(4x" 1) =

—6x*—4x*+1=2x*+1




CamocmossmernibHo!!!

D(x+y)(x—y) 8)(7+3y)(7-3y)
2)(p—g)p+g) 9)(n—3m)(n+3m)
3)(6+a)(e—a) 10)(26 +3a)(26 —3a)
H(p+5)(5-p) 11)(8¢ +9x)(8¢ — 9x)
S)(x+3)(x—3) 12)(y+4)(y—4)
6)(1-c)(1+c¢) 13)(x* —5)(x* +5)
D212 + 14)(4 -y )4+ y°)




15)9a—6>)9a+¢6%)
16)(0,7x+ y°)(0,7x — y°)
17)a’ —6°)a’ +6%)
18)(c* +d*)c* —d?)
19)(5x° +2y7)(5x° —=2y°)
20)(3x° —1D)(3Bx* +1)
2D)(x° + 4a)(x’ —4a)




Ynpocmume ebipa>keHue

D(=y+x)(x+y) 9)6n* +1)(61* —1)
2)(—a+e6)(6—a) 10)2(x —3)(x +3)
3)(—6—-c)6—c) 1 Dy(y+4)(y—4)
H(x+y)(—x—-y) 12)5x(x +2)(x —2)
S)(x—y)Ny—x) 13)(6=2)(8 +2)(6* +4)
6)(—a—6)(—a—s) 1493 -G+ )9+ 1?)
T)(—m" +8)(m” +38) 15)(@® +1)(a+1)a-1)
8)(5y—y) (¥ +5y) 16)(c* +1)(c* +1) (e —1)




Pa3no)xeHue Ha MHOXXumesnu

[ a’ -6 2(61—6)(614-6)\ 11

Dopmyna pazHocmu K8aopamoas




N36—a’ = (6—a)(6+a)
)AN6"— Y =(Tx—4y)(Tx+4y)
169 *— =(4x? —3)(4x* +3)

4) Pewuume ypasnenue :
a)x>—100=0 (6)y;)—(4:20)

— : = Y =)V =
(x—10)-(x+10)=0 Y207 pa2=0
x—10=0 ;x+10=0 y=2 —
x=10  x=-10 y

Omeem :2;—2

Omeem : £10



S)Bviuucaume :
a)79-81=(80—1)(80+1) = 6400 —1= 6399
0)42-38 = (40+2)(40—2) = 1600 — 4 =1596
) 5322— 2722 _(53-27)(53+27) 2680 _

79751 (79-51)(79+51) 130-28
120 4
5.7 7




CamocmossimesibHO

Dx* =y 9)25—n°
2)e" =y 10)m® — °
2
- 4
Z))a ) 15 | l)a4 —g"
2

5164 12)c® —d*
6)100 — x°

x> — 64

8)x* -9



PELINTE

YRABHEHYE
2)y*—81=0  Pasnoxume Ha
: MHo;Kugmnu 21
9 8)64 — (g +1)°
4)25)62 —16=0 9)25_(a_|_7)2
5)4x" =9=0 10)(a +7)* 36

6)x> —1=0



